= S =35 SHL: (=] Z (A2 ol ~ oly X7tk (]
HFNES=2Sstu 53HH 4€ F(4E 20 24%) F1tstg A&
= 4. 20.(8) 4. 21.(8H 4. 22.(7) 4. 23.(%) 4. 24.(3)
f e o] e 50| e
&5 R I R 1. Cpstet 27t T
A (AZAZS 2jo)) ' °° (FA) ' °° (8 2 ZAHH)
L B S ol o | ez e o |29 axT 2
@ | FR |3 opaps ol | wdEsese | T5S 08 SO L | MzEmee | DTS TLAS
> = = oo=2 - -O == (e} od = oo=2
Al | ES | Ol 2ot 5P| o7 et | olst O Hjo7|
ZH| 25 H197| £ s
B | cermeey Wi 44-49% SRS i 50-55% SREAIRESY,
X2 S| S 207t S) S 207t S)
jmn o =0 o =0 Fo
Ele=; 1. Where are you 1. CHer 27t 1. Where are you 1. oot 27t 1. Where are you
2 | =X from? : °s= from? ' °s= from?
o | = = =E 21 S HiEfoHH A& 2Mfok= 2 ME SZolH A7|1& oMotz
Al &S EfSP | 5P| 1L Ofatic}7| Chatst? | =27
0| =gy10m, HY of W 44-49% S3d10D), Hr 2o iR 50-55% S3Y103D), Hx 2o
AIE | 189190 SEX(EE) ST 2t 14~17, SEX|E) ST 2=t 18~21, SEA|B)
) = 33 =5 23 33
oS R[CIAO| BBF HAF A|SIA0| S5F ALt Hi 22| H= AHLO| S5 ARE | 1. AA40] S5 ARt
S S S 0
=H| 1. A[AL0] S5k AL 1. Z[A40| SHF AL zZe nee =ole 1. 2fA40] S5F Ak . Al 23k AR
E' = G, WA, SA0 | G, A, LbHIo| 4219 ojojet T e U i A5t
L 3535 L 55 = S _ == — T
| Ge | ACIUE SR | HOIRIE BRI | WNSAEOl | OAPRIEERM | ool o
Al | ES | sontper sk | S PPT, R 8 "or| SJ PPT, 3| = e
X} s s -uipk 8-11% =
il B s TS| o e seyror | Lo 1R ot 0-25%
N 20! 10~11% 20| 12-13% olo] AR 20| 14-15%
af e 2o e o e
Sk = =
S5 [ 1 IR oA | s oor | T RO | Lo e ) ecor o
4 | TH SIR? E15LR? =
s o] 7|22 A - - HIZ AN} 5802 | .
2| Fe | wiEy P 2 |y e, ey | SIARIECE | oy e
Al | g | 2Pl ooy oy | X AR EEPI | FO T | & E3ep)
d2beli =, o] i
FSani TP 12~15% 201 SEAM 174 A 16~21% (FHIZ 230) I 24~27%
AR | TR S| AR 10135 ofr AR U
jminl} ARl Ol& AR A AHES A2
St T OFECER 92 A,
= 5 A = -
=n | RS | S S s | SR 9 & LS ARSI OF
e L G AISYS- Lo
o E-;—l opig J;Eﬂllﬂ;’ 2EE At 4 g
o | TR s EEcieal | Ao ool ol | S0l oixis wsler | B2 A <SRRI | SR S B
|| == Qlopg| 71 EFAMSE| 0| Chsh E:51 | L2 oHE B
S = A a5 e = 7MY SHE= ARR] | AR 2 0t
AI‘VHEPP'
o
PN ZH|Z ZO0| AHO
; = T 10~12Z 'ﬁ@’rﬂl g = TN 13~15% BB TRE WRE M 16~18%
mun]) Aot Ol o s Aot
T - Cak
oo | e e | TEOL HE e e | el wwm
ZH| ARFY 4 o) A SOl
6 S zorre 1o NE 20 2= A
= 775t Wik of5) HPH 2otk s det o+~ Q= A
L st o Zoz maistn SZepen ARisp] | 4 waol £
ALl =S =HE S 25| 52 AHE 2 <
S5 27|
R | A% BE7IEN WO S SES : =

H 25 &M




